We adopt the following conventions in the integral tables:

. A constant of integration must be included with all inde nite integrals.

All angles are measured in radians; inverse trigonometric and hyperbolic func-
tions represent principal values.

. Logarithmic expressions are to base e = 2.71828. .., unless otherwise speci-

ed, and are to be evaluated for the absolute value of the arguments involved
therein.

. The natural logarithm function is denoted as log .

. The variables n and m usually denote integers. The denominator of the ex-

pressions shown is not allowed to be zero; this may require that a # 0 or
m # n or some other similar statement.

. When inverse trigonometric functions occur in the integrals, be sure that any

replacements made for them are strictly in accordance with the rules for such
functions. This causes little dif culty when the argument of the inverse trigono-
metric function is positive, because all angles involved are in the rst quadrant.
However, if the argument is negative, special care must be used. Thus, if u > 0

then .
sintu=cosT'V1I—u2=csc = =....
U

However, if © < 0, then

L . .1
sinTtu=—cosT'V1—-u2=—-m—csct==....

u

5.4 TABLE OF INDEFINITE INTEGRALS

5.4.1 ELEMENTARY FORMS

1./adm:a:p.
2./af(a:)d:1::a/f(m)da:.
/¢ (z))d /¢ dy, wherey’ =

4, /(u +v)dr = /uda; + /’U dx, where u and v are any functions of x.

/udv—u/dv—/vdu—uv—/vdu

o/

u—d:v—uv—

dv
T /UE dr.
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7. xndm—

/
S/df log .
/

, except when n = —1.

o [ L) o tog f(a), (@) = 1) ).

f'(2)
2 f(a:

10.

@
&

U

8

| |

b dx = b>0.
v alogb >

/
/
/<
/
14. /loga:dx =zlogz —z.
/
| &5
/&=
===

15. | o dzx = a > 0.
loga’
1
16. = —tan 1£.
a? + 2 a a
1 _
( = tanh ™"
17. —— = 1 or
a’ —x 1
—1lo ata a® >z’
\ 2a a—x
1 _
[ —Z coth lf,
N a a
1 or
.’132—0,2 110 r—a 22 > a®
\ 2q gx+a’ '
. -1 T
sin m,
d
19/ 2‘” _ = or
- —cosfli a? > 2

dx
20./—=10 (J:+ ij:cﬁ).
Va? £ a? &
1 1
sec” T =

21 /798 _ 1
zVz2 —a?  |al a’
_llog (—CH_ @ i$2)
'x X

22/—”3—
zva? + 2 T a

5.4.2 FORMS CONTAINING a + bz

n o (a + bx)"t!

1

24. /$(a+b:£)" dzx = Bnt2)

n+2_
p— (a + bx)

a n+1
Pt (a +bx)" ",
n#—1, n# —2.
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n+3 T2 S
n # —1, n# -2, n#-3.

n+3 n+2 n+1
25. /x2(a—|—ba:)” dr = b% [M 92 (a+b$) 2(a+b$)

26. /xm(a+bx)"dx=
(2™ (a + bx)" an
m+n-+1 m+n-+1
or
_ 1
a(n+1)
or

1 m n41 m—1 n
| dmtntD) [$ (a+ bx) ma/x (a + bx) dx].

dx 1
27. = -1 .
/a—|—b1; bog|a+b$|

/:pm(a + bz)" " de,

)

|:—£L’m+1((l +bz)"t + (m+n+2) /mm(a + bx)" T dx

1
28 | ———— =————.
/ (a + bx)? b(a + bx)
1
29 | —————=——F———.
/ (a + bx)3 2b(a + bx)?

! [a + bz — alog (a + bx)],

b2
30. / . dx = or
- log (a + bzx).

(a +bx) + a

[ a+ba
|

il

b

1

31 de = —
/(a+bx ~ 2
1

b2

2 [ i = | ne e +<n—1)<a+bz>n—1]’

n#1, n#2.
%(a+baz)2 — 2a(a +bzx) + a” log (a+b$)) .

W
—
S
—I— 8,
o>
]

.

S

I
&=
N

34/ i _1 a + bz — 2alog (a + bx) — a”
(a+bx)2 " b3 & a+br)’
T 1 2a a?
35 — |1 — .
/(a+bw b3 (Og (a+bz) + a + bx 2(a+bx)2>
T 1 2a
36. -
/(a-l—b:)c b3 {(n—?)) (a + bx)—3 + (n—2)(a+bx)~—2
a?
1 2 .
(n—l)(a+bm)”—1]’ n#ln#2 ns3
dz 1 a + bx
37 =—-1
/x(a+bx) i B
38 dx _ 1 11 a+bm.

z@+bz)?  ala+bz) a8

39/ dx _ 1|1 /2a+bx 2_10 a+bx
"J z(a+bx)® a3 |2 &

a+ bz x
dx 1 b a+ bz
40 [ 2 -~ 472 .
z2(a + bx) az + az o x
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41/ dx :2bx_a—|—£log x
x3(a + bx) 2a2x2 a? a+bzx’
dz a+ 2bx 2b a+bx
| =

a+bz)? a’z(a+bz)  ad ©8

5.4.3 FORMS CONTAINING ¢2 + 22 AND z2 — ¢2

1 _
c? +x? c c
dx 1 c+x 5 9
44/@22—010g6_w, c>x.
dx 1 Tr—c .
45, —— = —1 2 2,
/1:2—c2 5e ogw+c, - >cC

xr 1 2 2
46 | ——dr==+-1 + .
6/62i$2dw 2og(c x”)

x 1
4 [ e = Sy A0

48 / @ imﬁ)n = 2c2(nl— 0 [(@ T (2"_3)/(02;%] '

dx 1 T dx

49, / (1;2 _ C2)n - 202(n _ 1) {_ ($2 _ C2)n71 —(2n - 3)/ (x2 _ 02)n1:| :
T _ 1 2 2

50./$2_c2da:—210g($ c).

x 1
T R Y S
/ (z2 — 2)n+1 F on(a? — 2)n

5.4.4 FORMS CONTAINING a + bz AND ¢ + dx
u=a+bxr, v=c+dx, and k=ad—bc. (Ifk=0,thenv = (c/a)u.)

dx 1 v
52 [ =708 (3)

z 1
53./%da:—g<glogu—alogv)
dx 1/1 d v
4 [ — = | —+ —log —
> u?v k<u+k0gu>
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( 1 um—i—l u™
T =) [U”_l +b(n—m—2)/vn_1d:ﬂ},
or
u™ 1 u™ um—l
5. | —dzx=<¢ — k d
/ o d(n—m —1) [v"_l tm / o x},
or

1 um um—l
\ _d(n—l) Ln_l —mb/ por dm] .

5.4.5 FORMS CONTAINING a + bz™

60. / du = L tan ' L ab, ab > 0.
a+bx?  \/ab a
1 =
loga+$ ab’ ab < 0,
dx 24/ —ab a—xv—ab
61 / e or
a+bx 1 _1 2V —ab
tanh , ab < 0.
v —ab a
dzr _ 1 . bx
63. / - 5 dr = log (a + bz?).

bx? 2b
2

+
T T a dx
64/?‘”'—3‘5/@-

65/ dx _ x +i/ dx
") (a+0bx?)?  2a(a+bx?)  2a ) a+bx?
66./d7m=ilo atbe

a? — b2g2 2ab & a—bx
dx
67. | —  —
/ (a + bx2)m+1

1 x n 2m —1 / dx
2ma (a + bx?)™ 2ma (a +bx2)™’
or

T = rli(r — 1)! N 1 / dz
2a (da)m—"(2r)l(a + bx?)"  (4a)™ J a + bx?

x dx 1
68. =— )
(@ + bx2)m+t 2bm(a + bx2)™’ m# 0

dx x 1 dx
69. = - .
/(a+bm2)m+1 2mb(a + bx?)™ t omb / (a + bx?)™’ m 70
T 1 z?
70. | ——< = —1 .
0 /x(a+bw2) 208 4 + ba?
71 /‘17"’73 _ 1 9/ dz '
z2(a + bx?) az a + bx?
1 N 1/ dx
2am(a+bx2)™  a ) z(a+bx?)™’

72 / e = or
z (a4 ba2)" 1 zm: a” o z’
r(a + bx2)" & 4+ ba?

2am+1
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73/ _E/L_Q/d—fc
x? a+bx m+l T g | 22(a+bx2)™  a ) (a+bx2)mtl’

3 J—
74/ dz :ﬁ{llog(kH—w) 4 V3tan _1 2z k], k= Y/

a+bx® 3a |2 + bx? k3
75/@“16@3:3;]@ [;1 (C;:be +V3tan 12;%]7 k=T
76./%: 3bloga+bw.
77‘/@—5:21;4: , ,
2 3% o s o g @0 k= ()"
or
%Bmgif']ertan‘l%], ab<0,k:(—%)1/4.

X ]_ 11,'
78 | ———dr = — il - /T
/a—i—bx‘*d:c 2ok T ab> 0 k=g
1 2 —k
79 dr = 4—log =% b <0, k= /=T
/a—|—b1;4 T Oga:2+k’ ab <0, b

z? 1 [1 z? — 2kx + 2Kk 1 2kx
80. dr=—1=1 t
/a+b:134 v 4bk[ %8 21 2kz + 22 | M 2k2—:c2]’

ab>0, k= (&)

z°dx 1 r—k T
8L [ ——— = — |l 2t - b<0, k= 3—2.
/a+bx4 4bk[0gx+k+ an k] ab < V-3

3
SZ/Mz L log(a—i—bw ).

a+bxt  4b
dz 1 x"
8 [ s = o o n#0,
84/—d‘” _l/_d”“ _9/ z" do
") (a+bzm)m*tt a ) (a+bzv)™  a ) (a-+bzn)mtl

85 ™ dx _1/ " " dx _g/ ™ " dx
") (@+bzm)ptt T b ) (a+bzm)? b ) (a+bzm)ptl

86 / de - l/d—f’f _ é/ do
") xzm(a+bzm)Ptt  a ) zm(a+bzm)P  a ) xmm(a+ bxn )Pl

87. /a:m(a +bz" ) de =

(
W—m+1> [mm_”+1(a—|—bmn)p+l —a(m—n+ 1)/mm_n(a—|—bm”)p dm] ,
or
1 m-+1 n\p / m nyp—1
—np+m+1[x (a+bx™) +anp [ " (a+bx™)P" " dx|,
< or
a(m1—+1) [ " (a4 b ) —b(m+1+np+n)/wm+n(a+bxn)pdx] :
or
\ m [—»’ITle(61Jrl)acn)pJr1 + (m+1+np+n)/wm(a+bxn)p+l dx] :
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5.4.6 FORMS CONTAINING ¢ + 23

dz (cxx)? 1 1 2xFec
88 | ——— = :I:—l t .
/c3:|::1;3 6c2 <c3:|::z:3>+c2\/§ an /3
89 / dx _ x i/ dx
") (Bxa3)2 3e3(c3La3)  3c¢3 ) 3 Lad
dx 1 x dx
90. = -1) | ————
/ (3 £ x3)"tl  3ncd [(63 + z3)n +(3n—1) / (3 £ x3)n
z dx 1 e+ 23 1 _12x Fec
91 | —— = — + t .
/ Btad 6 ® (ctx)® V3 o cV3
92 / rdr x? L/ rdz
(3 £x3)2  3c3(c3Lax3)  3c3 ) L3
xdx 1 z? xdx
93 = 3n—2) | ——————
/ (3£ %"+~ 3npcd [(03 T 23)n +(3n )/ (c® £ 2%)n
x°dx . 1 3 3
94'/c3j:x3 —:|:310g(c + z7).
z?dx 1
95. = 0.
(¢ £ g3)ntl :F3n(c3 +23)n’ n#
dx 1 z?
. | ————— = —log ——.
% / x(cd+x3) 3¢ R
1 1 °
7. — log ———.
9 /:1: c3:|:a73 303(c3ﬂ:w3)+ 3c6 08 3 £ 43
1 1 dx
98. = - )4 _
/w c3:|:9173 ntl o 3ned (e L ad)r /x(c3:|::c3)”’ n#0
1 1 rdx
99. — F = [ —.
/$2 A+a3) Ao T / (c3 £+ x3)
dx 1 dx 1 xdx
100 / 22(c3 £ 23)n 1 3 / z?(c® + x3)n + c_3/ (¢ £ a3)ntt’

5.4.7 FORMS CONTAINING ¢! + 24

dx 1 1 22+ cxv/2 + 2 L, cxV2
101 1 T = —log — | 4+ tan 5 |-
ct+x 2¢3/2 |2 2 — cx/2 + 2 -z
dzr 1 |1 c+x T
102 | ——=—|= t —1.
/04—:134 2¢3 [20 c—:1:+an c]
zder 1 _qx?
103 [ = s
xdx 1 ¢+ z?
104/04—374:4021 2 _ g2’
2 2 _ 2
105/ f dm4 = [llog (m crvV2 +c )+tan_1 gx\/z
A+ 20\/§ 2 x? + cxV2 + ¢ -z
2
z°dx 1|1 c+zx 1T
106 | ———=—|=1 — —1.
/04—:174 2¢ [2 - tan c]
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z? dx
107./C4:|::l74 :l:410g(c + z%).

5.4.8 FORMS CONTAINING a + bz + cx?
X=a+br+cx? and q=4dac—b>

Ifg=0,then X =c¢ (q: + 2%)2 and other formulae should be used.

_12cx+b
— tan~" , q >0,
Vi v
dx or
108/—:< -2 _12cx+b
X —— tanh , q <0,
v —4 v =4
or
1 2 — /=
log cx +b—+/ q, g <0
L V—¢ 2cx + b+ +/—q
de  2cx+b 2¢c [dx
109 XT T X +? X
2
110 dx _ 2cx +b 1 3c 6c” d_:c
X3 q 2X2  ¢gX q> X
2cx + b N 2(2n —)c [ dx
p an” qn Xn’
11 [ o=
X (2n c 2cx +b (i)’“ (r—1)ir! +/d_a;
(nh)?2 \ q 1 cX (2r)! X |
rdx b dx
12 [ = _Q_/Y
xdx ba:+2a b [dr
113 = ——= [ =
X? q/ X
zdr 2a—|—bw b(2n — 1)
114 Xn+l - ann Xn ’ ;é 0.
zldr «x b b2—2ac dx
2 2
116 [ dv _ (b —2ac)xr +ab | 2a d_w
X2 cgX q X
m m—1 _ m—1
117./$ dx:_ x _n m—|—1é/x d
Xntl 2n—m+1)ecX” 2n—m+1c /) Xnt!
L_m=1 a fa"™
2n—m+1c¢ | Xntl
dx 1 z? b dx
11 = —log—= — —
8 ix T8 % X
dx b X 1 b2 c dx
119 | — = —<log— — — — — = —.
. /J;2X 22 %2 az + <2a2 a) X
dx 1 b dzx 1 dzx
120 = _ 2 e 2 1.
/xX” 2a(n —1)X"='  2a ) X" +a/‘an_l7 n#
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121/ de 1 _n+m—1§/ dx
zmXntl  (m — 1)azm-1Xn m—1 a ) zm-1Xn+l

m—1 a] zm2Xn+l’

_2n+m—1c/ dx

5.4.9 FORMS CONTAINING va + bx
122/\/a+bxdx=% (a + bx)3.
123 /x\/a-l-bwdx = —M\/(aﬁ-bx)fﬂ.

1552
5 2(8a* — 12abxr + 15b%2%)
124 [ z°vVa + bxdx = 0557 (a + bx)3.
125 /;Um\/a + brdr =
m{ \/(CL"‘bSU —ma/ \/CL"‘b.i?d{l? y
or
a,)mfr 1l
e A b b .
a+ xz r’(m—r)'(2r+3)(a+ T)
va+ bx x
126 7dm:2\/a+bm+a/7.
/ x xva+ bx
Va+bxr , 1 (a+bzx)® (2m—5)b [ Va+ b:z:
127 [ ———dx = — +
™ (m—1)a xm—1 2 gm—1
128 / dr  2v/a+bx
va+ bz b '
z dz 2(2a — bx)
129 | —=—"——"—7—"7—"V bx.
/ Va + bz 3b? ath
x?dx 2(8a® — 4abx + 3b%z?)
130 = bx.
va + bx 1563 a+or
2 :L'm_l
—_— wm\/a+bx—ma/7d;c},
131 [ 2% _ or
va +bx 2(—a)™Va + bx zm: (=1)"m!(a + bz)"
pmt1 = (2r + Drl(m —r)la™
2 —1 a+ bl’
tan , a <0,
132/d7‘” = or -
rva + bx Llo ( ’7a—|—ba:—\/5> 50
Vva 8 Va+br++/a '
133 dz _ _Va+bx

z2v/a + bx N ax B %/m\/a+bx.
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dx
134 _— =
/w”\/a+bx
_ Va+br (2n—3)b/ dx
z"~1\/a + bx’
or

(n—Daz"~! (2n—2)a
oty [VEERS e ()T ()

2(a + bac)@i")/2

135 /(a + bz) "% do =

b(2+n)
(4n)/2 (24n)/2
£n/2 g 2 [(a+bx) _ala +bx)
136/x(a+ba¢) bQ[ . 5t :

137 / dx _ l/ dz _ é/ dz
") xzla+bz)"/?  a ) z(a+br)=2/2  qa ) (a+bx)r/2

n/2 . (n—2)/2
138/%@:1)/@%@(”‘”/2 d:(:—|—a/ (a+b52 dz.

5.4.10 FORMS CONTAINING va + bx AND v/¢+ dz
and V¢ + dz

u = a+ bz, v=c+dz, k = ad — be.

If k = 0, then v = Zu, and other formulae should be used.

(2 _1 Vbduv
—— tanh , bd >0, k <0,
Vbd bv
2 _1 Vbduv
—— tanh , bd >0, k> 0,
; Vbd du
139 / v _] 1 log (bv + Vbduv ’ bd > 0,
£ uv \/;ﬂ v
2 pan—t V00w bd < 0,
—bd bv
1 . 1 {2bdx + ad + bc
e bd < 0.
SV v A ( I ) <
2
140 /\/uvdaz k:—|—2bv\/ Uy — 8’Zd \;Z:U_
( /
L d*/__ kd > 0,
\/kd d\/_+\/
or
d 2
141/ f—z L o (avi - vRd) kd > 0
V/ U ) )
vkd v
or
2 tan™" dvu , kd < 0.
L —kd v —kd
142 rdr _ \/uv _ ad—i—bc/ dx
Juv  bd 2bd Vuv®
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143/ dx :_2\/1“)‘

v/ UV kv

vdr  +/uv B E dx
b 2b Vuv’

Jao
145/\[ =T %

1 v dr
146 m == (2™ / .
/v Vudx (2m+3)d(v Vu+k ﬁ)

[ = (et (- 3) [ ) At

2 v /u — mk v dx
b(2m + 1) Vu ’
148 / —dz = or

144,

5.4.11 FORMS CONTAINING vz2 £ a2
149 /\/x2 +a2dx = % [$\/$2 + a2 +a’log (x-i— x? :I:aQ)] i

150 — log (w Yo az).

/ dz
T 1 1z
151 | —— = —sec”  —.
/:U\/xQ—aQ |al a
—llog (a+\/a:2+a2)
— )

T
152 | — =
/x\/m2—|—a2 a
S a2 N,
153/$—+ad:8=1/a32—|—a2—a10g (M).
T T

Ve —
154./Mdﬁlc:\/932—az—]a|sec1 z
x

a
x
155 | ——=dx = V22 £ a’.
/\/:/I:Qj:a2
156 /meQ +a2dx = %\/(xQ + a?)3.
1 3a’z
157. (z2 £ a?)3dx = 1 |¢ (z2+a?)3 TV z? £+ a?
3a’ 2§ 42

158/ dz _ +z '

V(z2 £a?)? a’Vz?Ea?

-1

T
159 | ——=de = ————.
/ V(22 £ a?)3 Va? +a?
160 /SU\/(LEQ +a?)3dx = %\/(ﬁ + a?)5.

2

4
161/:v2\/x2:|:a2dx=§ (wQ:I:a2)3:F%x\/:v2:|:a2—%log(m+ .732:|:a2).
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162 /xsvaﬂ +a?dx = %
163 /a:3\/ 2?2 —a?dr = % (2 —a?)5 + % (x2 — a?)3.

.1'2 xr a2
164 | ———dz = =+/z2+a?2 T —1 ( 2 4 2),
6/$2:I:a2dx 21: a:|:20g:c+1: a
3

1
165/\/%@3— g\/(xQ:I:a2)3:Fa2\/x2:|:a2.

dx de — Va? £ a?
2V x? £ a? -7 atr
22 - a2
167 [ — T gy Y& ra 1,
z3vVx2 + a? 2a%2? 2a3
ST — a2 1
68 [ gp=Yr-al, 1 12
2312 — a? 2a2x? 2|al a
2 4
169./:1:2\/(.7:2:|:a2)3d:r=% (J:2:|:a2)5:F% (22 +a?)3 — %\/LEZZIZG,Q

ab
16
2

17O/x3\/($2:|:a2)3d:v:% (IE2:|:(12)7:F% (2 £ a?)5.

166
(a+m)
A

log (a: + Va2 :I:az).

N ) N )
17l/w—§zada:=—$Tia+log($+ 2 +a?).
172/\/x2+a2 _ _Vart+a® il g(a+\/x2+a2>

o 212 2a x '
S22 N
173/"”73‘%130:— o +2|1|sec_1£
x x a a
174/\/:r2:|:a2d V(2?2 £ a?)
) zt  3a2x3
22 dx T
175 _— = ——— 4]0 (:E—i— x2:|:a2).
V(2% £a?)? Va? £ a? 8
3 2
176 [ 29 riaea

a
V(2% £a?)? Vr2+a?

177 / dz B 1 1y (a+\/a:2+a2)
S oay/(a?+a?)?  a?VaP+a? 8 x '

1 1

/ dx
= - — 77 sec
T /(wQ —a?)3 a2/ x2 — a2 |a?|

178

SHRS

179 d =1 [*/m + ] .
PNy o R Y

180 dx _ 3+a? —|—ilog (a—i-\/m)'
w3\/m 2a04v/x2 + a2  2a° x

181 de = ! — 5 _ 3 sec™' L.
23y/(22 —a?)?  2a222V2%2 —a®> 20%V22—a% 2|a’| a

182 _atdr = lmm_l x2 + a2 2

:':m—laQ/ T do
V2 + a? m m V2 + a2
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2 m
™" dx (2m)! A ri(r — 1! 2 m—r 9r—1
183 = — — V2 +a? ——(Fa 2z
Vz2 a2 227m(m!)? Tz::l r)! (Fa™)™ " (22)
+(Fa®)™ log (:1: + V2 £ a2>] .

2m—|—1 dw

(27° )2 2ym—r 2r
184 = /22 + g2 N (4 ‘
N az @t iz )T
185 / dx _ Va2 +a? - (m—2) dz
a2 £a2 (m—1)a2zm 1 " (m—1)a? | gm-2\/z2 £ a2
_ 1o ! 192m—2r—1
\/m Z Dm!(2r)!12

fr") 2m '(:Fa )m T:U2T+1

dx
186
/ x2m\/z? 4+ g2

r=0
V2 + a? i(—l)m*'drl 7"!(7“ — 1)!
a? 2(2r)1(4a2)m—rg2r

(7))

187 / da _ (2m)!
otz g2 (m!)?

r=1

(-

+ log

22m a2m+1

188 / dz _@2m)! | Va2 —a? Xm: rli(r —1)!
p2m+1 - g 2(2r

2 — a2 (m!)? a? )(4a2)m—rg2r
1 1T
Wsec al”

189 / dz _ x2 — a2
a:—a)\/x —a? a(r —a)

2
190/ =YX -2
(x+a)Ve? —a? a(r+a)

191 /\/&2 —z?dr = - (:L' a? — z2 4+ o’ sin |$—|)
a
192 / ‘dﬁ —sin™' L= —cosT! L
a? — a2 lal lal

x
195/—dm—
Va? — 22
196 /x\/ a’? —z2dr = —% (a? —x2)3.

1 2 v
197, [ Vi =i = 1 (ev/@— e+ B E s M )

dx T
198 = .
/ /(a2 —z2)3 a2vVaZ — 22

199
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ZOl/xZ\/az—de:p:—z (a2—m2)3+—(17 a? — 2 +a’sin 1|£
a
202/x3 a’? —x?dr = —1:132—3&2 (a? — 22)3
5 15
2
203/1’2 (az—xz)?’dw——éx (a2 — 2)5+% (a2 — x2)3
+a4—:]j a2—a:2+—631n
16 16
2
204 /mg'\/(az —x2)3dx = %\/(az —x2)7 — %\/((ﬂ — x2)5
2 2
_r _ _Z 2 _ 249 I+
ZOﬁ/mdﬁv 5 a z? + 5 sin a]
dz a? — x2

JaZ — 22 VP —— 2 _ 2
208/ =T +2i1 (a+ : x)
209 /7” (R VA Clld 0
xt N 3a2x3
2
z° dx T 1
210 = —sin ' 2=
(a2 — 22)° 22 — 22 la
3
211 $2 de = = —% (a? —22)3 —z"va? — 22
a? —x
3 2 2
x° dx x a
— 2 _ 2 2 _ o2
212 (a2 — 22)3 . VaZ —z2 Va2 —z2 tvai-w
dz a? — x? 1 a++va? — x?
213 = —1
x3va? — x2 20222 2a3 g( x )

214/ dz _ 1 —ilo a++va? — z?
/(a2 —22)3  a2Va®—22 a® T
3 _ .2
215 dzx _ i (_ a z N T )
2 (az _ mz)g a? T a2 — 2

dx 3—a? _ 3 log <a+\/a2—a:2>
EE—

2
S + / ‘ dz
\/a2—x2 m m VaZ — 12

(2m)‘ 2 7" r— 1 2m—2r 2r—1
[ e = s | VS e
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2m-+1 m ! N2
219 | L _dr=—\/a? —xgzm(éla?)m_rxw.

a? — x? (2m + 1)}(r!)?
220 / dx _ a? — z? n (m—2) dx
Ve —z2  (m—=1Da2zm=1 " (m—1)a2 ) gm-2/a® — 22
m—1 —op—
dz . (m — 1)lm!(2r)122m 21
M a2 — g2
2ol / 2o —x? o ;) (rN2(2m)la2m—2rg2r+1 °
292 / dz (2m)! | Va? —a? in: ri(r—1)!
x2m+1\/q2 — 12 (m!)2 a2 g 2(2r)!(4a2)m—r 2"
1 1 a—+va?—x?
+22ma2m+1 08 T )

2 _ .2 2 _ K2)\2
;10 (Va2 — 22 + xv/a? — b?) R
a0 b= 22
or
1 —1 zVb? —a? 9 9
————tan ———, b* > a”.
bvb? — a2 bva? — z2

224 / du _ L gravett
S+ 22)Va? -2 bVa+b? a2 —z?’
205 / va? — :L'2 Va4 . zVa® 4+ b2 . 1 X

= b2 >a’

= sin — sin ,
b + x? |6] la| V&2 + b2 |a]

5.4.13 FORMS CONTAINING va + bx + cx2
X=a+br+cz?, qg=4ac—1V*>, and k=4c/q.

Ifg=0,then VX = \/c |z + L.

(1 (2\/cX + 2cx + b)
= IOg ) c>0,
Ve V4
or
dx 1 .. _12cx+b
226 [ — =< ——sinh , c>0,
VX Ve Va
or
1 . _12cx+b
- sin , c<0.
\ v —C v —q
dx 2(2cx +b)
227 _ _
XVX avX
dx 2(2cx + b) ( )
228 = + 2k
XZ\/)_( 3¢V X X
20x+b)\/_ 2k(n —1) / dz
(2 n—l)qX" 2n — 1 Xn-1/X’
dx
229 = or
X"VX (2cz + b)(n!)(n — )4 K" =2 (2p)!

M

q(2n)\VX p— (4kX)" (r!)?”
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230/\/ydm:—(20$+b)ﬁ+i Ar

4c 2k | VX'
231/X\/§dx= @cmg—cb)ﬁ (X-I— ;}f) +8% j—%.
232/X2\/dezw<X2+Zf+81§)+%/j—%
233 /X”\/Ed:c =
e e [ XV

or

(2n +2)! 20x+b)\/_zr‘ r+41)!(4kX)" L[
[(n+ 1)1]? (4k)+1 ¢ = (@r+2) VX |

rdx NS b dx

234 | —=— - — | —.
v X c 2c v X
xdz 2(bx + 2a)

235 = - .
XvX q\/

z dx

236 _ _ _/
XX (2n - 1)an Xnv/X
2 _

237./md$:(£—3—b>\/§—|—3b 4ac dx

VX 2¢  4c? 8c? VX'

238 x? dx _ (26 — 4ac)z + 2ab 1 d_a:
XVX cqV'X c) VX

239 z? dx _ (2% — 4ac)r +2ab  4ac+ (2n — 3)b / dz '
XX (2n—1)egXn1VX (2n —1)cq Xn-1/X

% dx x? Hbx 5b2 2a 3ab 55> dz
240 == — S — - _ —_—,
NS (30 12¢? + 8¢? ) VX + (402 1603> VX

n _ n—1 _ n—2
oa1 [ % dz —ixn—l\/)_(_ (2n 1)b "7 der (n—1)a [z dw'

v X " ne 2nc v X ne v X
XvVX  b(2cx +0b) b dx
2 / WX dr =g 82 0 T dk ) UX

2

243/;1:X\/)_(dx: X ‘/X— ﬁ/xﬁd:p.
n+1

244/:vXn\/_dm— XTVX /Xn\/_dx

(2n—|—3
245/x2\/Xd:c: XvX 5 _,4“/\/de.
6c 4c 16¢2
(1 . (bx+2a)
——sin — ), a <0,
V—a 1z v/—q
or
246/ dr__ ) _2vX =0
zv X br ’ ’
or
1 2vVaX + bx + 2a
———log , a>0.
L Va x

© 2003 by CRC Press LLC



247/ de VX b [ da
") oz2VX  ax 2a | /X'

b dr dr
248 | Y= 4y _\/§+—/—+a —
/ 2) VX

VX
249 ‘/Z_dxz—@+9/d—x+c dr
x x VX vX

5.4.14 FORMS CONTAINING v2az — z2
250/\/2a$—:c2dw: % [(w—a) 2ax — 22 +a’sin”' 2|

|al
1 a—x
CcOoSs y
|al

dx
251 e or
/\/20,3:—:1:2 T —a
sin™! (—)
|al
2/$n\/2a$—w2dx:
n—1 2 — 2)\3
== KTl
n-+ 2 n-+ 2
or

/72a$—x2 __zn: 2n—|—1)l r1)2 n—r41 . +(2n—|—1)!an+2 - T —a
+2 27=7(2r + 1)l(n + 2)!n! 27nl(n + 2)! la| J°
253/\/2aw—x \/ (2ax — z2)3 n—3 /\/an—a;
x" o

(3 — 2n)a:v” (2n — 3)a xn—1
x" dx
254 | — =
V2ax — z?
_1:”_1\/2aa:—:132 L2 2n —1 / x du
n n V2azx — x2
or
Cn)lrltr— D™ .1 (2n)la™ . _i [x—a
2ax — Z T CSICIE x + —2”(n!)2 sin —|a| .
V2azr — z? N n—1 / dx
a(l—2n)z»  (2n—1)a ) zn—1'\2ax — 22’
255 / R
z"V2az — z? 7 277 (n — 1inl(2r)!
— (2n)!(r!)?an—rar
56 dx _ xr—a ‘
v (2ax —22)3  a’v2ax — 2?
257 xdx

x
v (2ax — 22)3 - aRaz — 2

5.4.15 MISCELLANEOUS ALGEBRAIC FORMS

dzx
258 —=log |z +a+2azx + x2).
/\/2@3:4-:1;2 g( )

© 2003 by CRC Press LLC



az?+c

¢ sin”! (:E _ﬂ)’ a <0,
2v/—a c

r
gx/ax2+c+—2\c/alog(x\/c_z+\/cw727+c>, a>0.

260/ 1+$dw=sin_1x—\/1—x2.
V1i—x

N8

259 / vVazr? +cdr =

( 1 1 /a$n+ _\/_
n\ﬁ & Vazr +e+ /e
261/7@ .y 2 g Yoz +c—f >0,
xv/azxr™ + ¢ n\/_ N
2 _1 ax™
- <O
\ n\/—_cseC c ¢
1 . _1< a
sin Ty ==, a <0,
262/ du or ¢
T—S = or
vazr? +c
%log<x\/5+\/ax27—l-c>, a > 0.
a

263 /(a:v2 + o)™t 2 4y =

(z(az? + )™M 2m+1)c
2(m+1) 2(m+1)
or

S xmz (2m + Di(rt) e (aa:2+c)T

22m 2r+1m](m+1)](2r+1)

(az® + )™ /2 da,

(2m + 1)le™ Tt

\ " 22m+1m'(m + 1! / \/a$2 +c
) m+3/2
264 /a:(a,x2 + c)m'H/2 dr = (az® + c)

(2m + 3)a
2 m+1/2
265 / lae” + "7 4y =

xr
m+1/2 m 1/2
(a:n +C / (a;c —I-C iz,

2m +1
or

m

- """ (ax? +c)" a1 / x
Var?+c +ec e
7‘2:;) 27' + ]. $3/a$2 + C
dr
266 =
/ (az? 4 c)m+t1/2

€ 4 2m — 2 / dz
(2m — De(az? +¢)m=/2 " 2m —1)c | (az? +c)m—1/2’
or

m—1 22m 2r— l(m 1)'m‘(2r)

\/aa/:2 +c = 2m)!(r))2em—"(ax? + )"

267/ dx B Vax? +c (m—2)a/ dz
’ ™ xrm 2

Varz ¢ (m—1Dexm=1  (m—1)c -2\ /az? +c’

m # 1.
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- 1— 22

r = —10
1 _)/irat V2 r

1— 22 1 -1 V2
269 dr = —tan~ = —.
(1+:1:2)\/1+x4 V2 V1+ 2t

(awm)

268/( 1+2° p L (xf+m)

— log

dx
270 | ———— =
/ zVzx™ + a? na
271 / _dr g
v/ — a? na \/x"

/ T _2 .. -1 (T 3/2

5.4.16 FORMS INVOLVING TRIGONOMETRIC FUNCTIONS

273 /sin axr dr = —1 cos ax.
a

274 /cos ardr = —sinaz.
a
1 1
275 /tan ardr = — log cosax = - log sec ax.
276 /cot axdr = 1 log sin ax = ——log cscax.
a a
277. /sec ardr = L —log (secax + tanax) = 1 log tan (E + %).
a a 4 2
1 1
278 /csc ardr = o log (cscax — cotax) = o log tan %.
1 1
279 /sin2 ardr = g ~ % cosaxsinar = % - Esin 2azx.
1
280 /sin3 ardr = —3—a(cos ax)(sin’ az + 2).
in 2 in 4
281 /sin4 ardr = % - sm4aaa: + SH:;Z;:E.
soon—1 _ 1 »
282 /sinn axdy = — o ArCOSar /sinn ? az dz.
na n
m—1
: cos ax (2m)!(r!)? . org1 (2m)!
283 2m [ 1“+ _\=r
/ sin™" a d a2 )i o T Pl
) m—1 jom_2p 12 ! )
284 /sinzerl arde = — 24 2 (m!)"(2r)! sin®” az.
a ‘= (2m+1)l(r!)?
- 1 1 1 1
285 /cosz ardr = —x + — sinax cosax = —x + — sin 2ax.
2 2a 2 4a
286 /cos3 ardr = 3i sin az(cos” ax + 2).
a
in 2 in 4
287. /COS ardr = gx s1n4aa:c + 8122;”.
1 _ —1 _
288 /cosn ax de = — cos™ ' axsin ax + ——— /cos” ? az de.
na n

© 2003 by CRC Press LLC



. m—1 2
om __ sinax (2m)!(r!) 241 (2m)!
289 /cos axrdr = " TEZO g2 (2r + 1)I(ml)2 cos axr + Ww

21 _ sinaz L2223 (2r))
290/005 ardr = " Z_: @m+ D)D) cos” ax.

291 / de = /cosec2 axr dr = —l cot ax.
a

2

sin” ax
292 / sinciivaa: = /cosecm axdr = _a(ml_ 5 Si;zs_aixam N TTZ: i / Sinji _
293 / singli’fax = / cosec’™ ax dr = —% COS ax ?jz:;j 222:;;(1%?2 s_in12)”!ﬁ!(52xr)! )
294, / sinQ:”l%aa: = /Coseczm+1 ardr =

m—1 2
(2m)!(r!) 1 (2m)!
PR ; 92m=2r (27 + 1)!(m!)2sin® 2 azx | a 22™(m))

295/ de =/sec2 axrdr = ltamaac.

cos? ax

az
5 log tan —

a
1 i -2
296 / dv _ _ /secm ardx = smav  m / da:‘ :
cos™ ax alm—1)cos™tax m—1/J cos™ 2ax
m—1 gom—2r—1
de om 1. 2 (m — 1)!m!(2r)!
297, [ gy = [ se" awde = Jsinar 3 @m)l(r)2 cos?rHlaz

r=0
1 (2m)!
208 / cosQ’C’l‘%ax = /sec2m+1 azdr = _(L)-)Q log (sec ax + tan az)

m—1
1 . (2m)!(r!)?
T smer ; 22m=2r(m1)2(2r 4+ 1)! cos?" 2 az’

. . sin(m —n)x  sin(m+ n)zx 5 5
299 dz = - :
/(smmx)(smnx) x 2m —n) mtn) m°#n
sin(m —n)x  sin(m+n)z 5 5
300 dx = .
/(cosm:c)(cosnm) x 3m —n) mtn) m° #n
301 /(sin az)(cosar)dxr = % sin” ax.
302 /(sin mz)(cosnx) de = _co;((::_—:))x — COS((T?::)):U, m? # n?.
303 /(sin2 az)(cos® ax) dx = —32% sin 4ax + %
cos™ ! ax
4 [ (si m - s
30 /(sm ar)(cos™ ax) dx CED
305 /(sinm az)(cosaz)dr = sin™ " ax
" (m4+1a’
306 /(cosm ar)(sin” ax) dr =
m—1 soon+1 _ )
cos (njf—s:zl;a ax Zz +711 / (cos™ 2 az)(sin” ax) dz,
or
m+1 coon—1 _ )
o8 arsm av L o 1 (cos™ az)(sin" " ? ax) dx.
(m+n)a m+n
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( cos™ ! azx m-—n-+2 cos™ ax
- san—1 - san—2 dCL',
m a(n —1)sin" " ax n—1 sin”~* ax
cos™ ax
307 | ——dz =« or
sin” ax _ _
cos™ ' ax m—1 [cos™ ?ax
— 1 — dzx.
{ a(m — n)sin ar m-—n sin” ax
( sin™*! az m—mn-+2 sin™ ax
1 o 2 d,
. m a(n —1)cos”~lax n—1 cos" 2 ax
sin” ax
308 ~ dr = < or
cos™ ax o o
sin™ ! ax m— 1 sin™ % ax d
— z.
| a(m—n)cos” tar m-—n cos™ ax
sin ax 1 sec ax
309 > dx = = .
cos? ax a cos ax a
sin? aa; 1. 1 T ax
310 r = ——sinax + — log tan (——i——).
cosar a a 4 2
cosar csc ax 1
311 [ 20 gy = — -
sin® ax a asinax
dz 1
312 - = —logtanaz.
(sin a:L') (cos ar) a

1 ar
313 == log tan ).
/ (sinax) cosz ar) a secax + log tan 2

314 / dx _ 1 N / dx
"] (sinaz)(cosmazx) a(n—1)cos"!azx (sinaz)(cos™ 2 ax)’

dz 1 1 T o azx
/ (sin? ax)(cos ax) g 0T + g et (4 + 2 )
316 / dv _ 2 cot 2ax
(sin? az)(cos2ax)  a '

317 / e =
s ax cos™ ax

1 m+n—2 / dx
a(m — 1) sin™ ! ax cosn—! ax m—1 sin™~? ax cos™ ax’

2 P (atan%+b)
———— tan — ),
1/61/2_1)2 ‘/a2_b2
— or

a+b51na: 1 o atan § +b— /b% —a?
b2 — a2 °8 atan § +b+ vb* — a?

or
1 m+n—2 dx
m—1 _ + m ) .
a(n — 1)sin azx cos" ! ax n—1 sin™ ax cos™ 2 ax
1
318/s1n (a+ bx) dw——gcos(a+bx)
1 .
319 /COS (a +bzx)d = 3 sin (a + bx).
320 1tan(f )
1:|:SlIla:L‘ =t 1T )
321/ — Lian 2.
1—|—cosaa; a 2
1 ax
322 = ——cot —.
/l—cosaa: aCO 2
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2 _1 vVa? —b2tan g
. Vi = ath

324./b7: or
a+bcosz 1 1 Vb2 —a’tan§ +a+b
—O .
b2 — g2 & \/b2—a2tan§—a—b

325/ _dx -
a+bsinz + ccosx
( 1 (b— b2+ c2—a?+(a—c)tan 3

————1Io
Vb2 +c? —a? & b2+ c?—a’?+ (a—c)tan 2

or
b —c)tan £ . ‘
¢ 2 ! tla-9 ~ 2 a? > b2+ 32,
Va2 — b2 — 2 Va2 —b? — 2
or

| %[a—(b+c)sina:—(b—c)sm]_

a—(b+c¢)sine+ (b—c)sinx

sin” x 1 fa+b _1 a x
326 - / _z .
/a+bc052 dx 3 " tan ( a+btanx> X ab >0, |a| > |b]

1 btanz
327 =t )
/a2coszx+bzs1n:c ab an- ( a )
cos? cx va? + bz 1 Va2 +b2tancr «w
328 dr = S—
a? + a? + b2sin? cx ab3c a b2
SIn ¢ CoS cx 1 9 . 2
329 de = ————1 b b.
/acos2 cx + bsin? cx v 2¢(b —a) og (acos” cx +bsin”cx), a #
330 / CoS cx _
acoscr + bsin cz
/ de = ! [acxz + blog (a cos cx + bsin cx)]
a+btancr  c(a® + b?) & '
331 / sin cx _
acoscr + bsin cx
/ de = L [bcx — alog (a cos cx + bsin cx)]
b+acotcr c(a?+ b?) & '
332 / dz -
acos?z + 2bcosxsinx + csm X
( (ctanx—l—b—\/bZ—ac) 5
+ log ‘ ,  b°>ac,
2v/b2 — ac ctanz + b+ b2 —ac
or
1 1 fctanz +b
§ ——— tan" ! (7), b? < ac,
Vac —b? Vac —b?
or
1
S b2 = ac.
\ ctanx + b
sin ax 1 T ax
333 / 1+ sinax de=to+ atan (Z + 7)

dz 1 T __aw 1 ax
s [ de L (moany Ly 0
/(sma:u)(l:l:smam) o M\2 T +a cetan T

335/(1+i—fmx)2 =—%tan<z—ﬂ) L an? (E—ﬂ).
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336/(d—$:icot (5—@)+iacot3 (3—@).

1 —sinaz)? 2a 4 2 6 4 2
sin ax 1 T ax 1 T ax
S YR WANEN B WY C
/ (1 4 sinax)? v 9 "\4 T 2 + 6a " \1 2
sin ax 1 T ax 1 3 (T ax
338 | —— 2 gy =—— t(———) - t(———)
/ (1 —sinax)? v 20 “O'\1 7 2 + 6a O \1 7 2

sin x x  a dx
39 | ———de=-— - | ———.
/a—i—bsinf[: v b b/a—|—bsinx
340/ _ dr zllogtanf—é/dix,.
(sinz)(a +bsinz) a 2 a) a+bsinz

bcosx LG dz
da (a2 —b2)(a+bsinz) a2 — b2 /a—i—bsinm7
341/—,2 = o
(a + bsinzx) b de

acosxT n /
(b2 —a?)(a+bsinz) b2 —a? ) a+bsinz’
dz 1 _1 {Va? +b2tancx
342 ‘ — tan .
a? +b%sin“cx  acva? + b2 a
1 tan! (\/@2 —b2tan cw)
dr acva? — b2 a ’
343 /

a? > b?,

% _ or

2 _ p2qin2

a2 — b2sin? cx ;10 (,/52—a2tancx+a) W < b
2acV/b? — a2 & Vb2 —a2tance —a )’ '

344/de=x—ltan%.

1+ cosax a 2

345/%@0:—;6—%6%%.
346 / (cos ax)(cllm—k cos ax) - élog tan (% + %) B %tan %'
341 / (cos ax)(clm— cos ax) - ilog tan (% + %) B écot %'
348/(141#@2 - %tan%—i—%tan?’%.
349./(1_5#@2 =—%cot?—6iacot3 (12—30.
350/%@: %tan%—%tang%.
351/%(&: %cot% — G%COJCB?'

d
92 [ e te=5 5 | aTrems

dx 1 x 0w b dx
353 = —logt —+ ) - —.
/(cosx)(a+bcosx) P an(2 + 4) a/a+bcosx

354/ dx _ bsinx __a / dx
") (a+bcosz)? (b2 —a?)(a+bcosz) b2—a? ) a+bcosz’

355/ cos do = asinx b / dx
(a+bcosz)? "~ (a2 —b2)(a+bcosz) a?—b2) a+bcosz’
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dz _ 2 _1 (a+b caf:)

= t 2T 0 tan =
a? 4+ b%> —2abcoscr  c¢(a® —b?) an a—b "7

dx 1 _1 atancr

= t —_—
a?+b%cos2cr  geva? + b2 an - /a2 + b2

1 tan—" ( atan cx ) T
da acva? — b? Vaz—1v2)’ ’

S — or

2 _ b2 cos?

a? —b%cos?cx 1 o (atancx— b2—a2) b2 > a2
2acVB® —a® ° \atance + Vb2 —a2 )’ '

sin ax

/
/
/
359 / R dx = :F% log (1 £ cosax).
/
/
/

1
r = :I:E log (1 £ sinax).

S W WA
(sinaz)(1 £ cosaz) ~ 2a(l+cosar) 2a & 2

dz L +ilogtan (%4—%)

(cosax)(1l £ sin ax) -7 2a(1 £sinaz) 2a

Sil’l axr 1
363 _ 1 Lo
/ (cosax)(1l + cos ax) dz a og (secax )

cosax
364
/ (sinaz)(1l + sinax)

sin ax 1 1 ar
365 dv = ————— £+ —logt — + .
/ (cosax)(1l +sinax) v 2a(1 £ sinaz) = 2a ©8 an( 2 + 4)

1
dz = - log (cscax + 1).

COs aT 1 1 ax
366 dr=———"—— 4+ —logtan —.
/ (sinax)(1 £ cos ax) v 2a(1 £ cosazx) 2a cgtan T
dx 1 ar @
367. = logt — 4 ).
/sinaw:l:cosam a2 08 an(2 8)

368

dx = i tan <am E)
(sinar + cosax)? 2a t3)

dx

1 axr
— 41 (1 4t —).
1 + cosax £ sinazx a 8 an 2

dx 1 (btancx+a>

a2cos?2cr —b2sin’cx  2abc

btancr — a

2,..2
X

2 . 2x .
r°sinardr = — sinaxr + ————— cos ax.
a? a3

3 . 3a%z2 -6 . 6z — a’z®
z°sinardr = ———sinaxr + ——— cosax.
a? a3

" sinaz dr =

371 /a:sina:cda: = LQ sinax — Ecoscw:.
a a

1 m -1
——z"cosar+ — | 2™ cosaxdr,
a a

or

]

cosax

o3

(m —2r)! a?+!

1
Il
=
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1 T .
375 rcosardr = — Ccos aw + —sinaczx.
a a
, 9 2.2
376 /x cosaxrdr = — cosazx + sin azx.
a a3
3 3a’z? — 6 a’z® —6x |
377 | z°cosaxdr = —— —cosar + ———sinaxz.
a as
378 /a;m cosazx dr =
—1 .
sinazx dzx,

™ . m
—SsSmar — — xr
a a
or

I

sin ax

r

sin ax

379 /
x
cos ax

380 /
x

381 /xsin2 ax dr = r
382 /x2 sin® ax dr =
. 3 xr
383 /xsm ax dr = Ecos?)ax —

384 /x0052 axrdr = L

of3

dr =

] » 1 e

(=1)"m! z™ 2r pm—2r-1
< (m = 2r)! a?rt! +eosaz Z — 2r -1 a?rt?
Y e Lo
— (2n+1)(2n+1)!"

o0 . (G,.’I?)Qn
der = -1) ———
v ;( ) nyzn)
2
T 1
- — 200 — — 2

1 1a sin 2ax 5.2 cos 2azx.

$—3— m—z—i sm2a$—i0052ax

6 4q  8a3 4a2

1 sin 3ax — 3_x cosax + i sin ax.
36a2 4a 4a?

2
2 T . 1
T + Esm 2ax + 3a? cos 2azx.

X

3 2
, . 1 .
385 [ zcos? axdx = r + | — — — |} sin2az + 2 cos 2ax.
6 4q2

386

3 X .
/:I;cos axdrx = — sin 3ax +

4a  8a3

3z 3
cos3ax + — sinax + —— cosax.

12a 36a2 4a 4a?

1 —cosardr =

= COS —.

sin az sin ax a cos ax
387. .
/ xm :U (1 _ )xm—l / zm— 1 d:l:
cosaz cos ax sin az
388
/ rm (1 — )zm—l 1—m / o
T cos ax
389 =F— 1 1+
/ 1 :I: sin ax :Fa(l + sin ax) og (1 £sinawx).
z ax 2 ax
% ar 2, az.
5% / 1+cosa:1; atan 9 + 42 08C0S 5
z . ar 2 ax
391 T2 ki M
/1—cosax g ot 5+ _zlogsin
392/$+sm:c e — oton T
1+cosz 2
smx T
393 — _zcot X
/1 —cosx ooty
394 / 2sinax 2\/_ ar

avy/1 — cosazx a 2
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2 sin ax 2\/_
395 [ V1+cosaxrdr = .
/ arar = av/1 + cosax a 2

For the following six integrals, each k represents an integer.
( 2(sinf—cosf), 8k—1)Z <z < (8k+3)Z,

2 2
396/\/1+sinxdx:< or
\—Q(Sing—cosf), Bk+3)5 <z < (8k+7)3.

2
. x .
2(s1n§+cos§), 8k—3)F <z < (8k+1)%,

397./\/1—sin:zdx=< or
k—2(sin£+cos£)7 8k+1)T <z < (8k+5)%.

2 2
v2log tan %, dkr < x < (4k + 2)7,
TSt —v/2log tan %, 4k +2)r < x < (4k + 4)m.
4 v2log tan (ml—w» (4k — V)w <z < (4k + 1),
T
399./—=< or
v1+cosz
\—ﬁlogtan(xl_ﬁ), (4k + D)7 < @ < (4k + 3)7.
. \/_logtan(% g) 8k +1)T <z < (8k+5)Z,
400/7:< or
V1 —si
T —v210gtan (% g) 8k +5)Z <z < (8k+9)Z.
o ( \/ilogtan(erg), 8k—-1)Z <2< (8k+3)%,
401/7 ! o
v1+sing
| —VZlog tan (%Jrg) (8k+3)F <z < (8k+T7)Z.

- 1
402 /tanz ardr = —tanaxr — x.
a

403 /tan3 axdr = 1 tan” az + 1 log cos azx.
2a a
1 1
404 /tan ardr = — tan® az — = tanaz + .
3a a
405 | tan” axdx = _ tan" ' az — [ tan" % az dz.
a(n —1)
406 /cot2 ardr = 1 cotaxr — x.
a
1 : 1
407. /cot3 ardr = —— cot’ ax — — log sin az.
a
1 1
408 /cot4 axdr = —— cot® ax + — cotax + .
3a a
1 _ _
409 /cot” ardr = —————cot" tax — /cot” % az dz.
a(n—1)
1
410/ - f de = /LECSCQCL:Ud.T: _zcotax + — logsinax.
sin” ax a a
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x x cos ax
411 ——dz = [ xcsc” avdr = — —
sin” ax a(n —1)sin" " ax

1 L= 2 / x d
- . . x.
a?(n—1)(n—2)sin" 2ax n—1) sin" ?ax

1
412 / Y e = /:cse(:2 axdr = gtan ax + o) log cos azx.

cos? ax
T Z sin ax
413 de = [ zsec" axrdx = -
cos™ ax a(n—1)cos" !ax

_ 1 Lo 2 / x de
a?2(n—1)(n—2)cos"2axr mn—1) cos" 2ax
sin ax de = _i sin~"! bcosax

V1 +b%sin® ax ab VI

i 1
415 Snav ‘ dr = ——log (b cosaxr + \/m)
V1 —b2sin? ax ab

2
416 /(sin ax)V'1+b2sin? axdr = _co2saax V' 1+ b2sin? ax — 12—25 sin~ ' f/%.
417. /(Sin ax)V1—b2sin? axdxr = — CO; ar V1 —b2sin? ax
a

_1- b* lo (bcosax + \/m)
2ab & ‘
418 / cos ax : dr = i log (b sin ax + m)

cosar

der = —
V1 —b2sin? ax ab
420 /(cos ax)V1+ b2sin? ax dr = Slg /1 + b2 sin? ax
a
1
+—log (b sinaz + \/1 + b2 sin? aw).

2ab

T T o O L
421 /(cosaw) 1 —b2sin” ax dx 5 1 —0b%sin” ax + 5,5 St (bsinax).

For the following integral, k represents an integer and a > |b|

414

419 sin™! (bsin ax).

422 / du —
va + bt(an2 cx

#Sin_1 (\/a—_bsincm), 4k -1)5 <z < (4k+1)7,
cva—b a

$ or

#1_1)@11_1 ( a_bsincaz>, (4k+1)5 <z < (4k+3) 3.
423 /cosn o de — in_l i:_ol 7}:) W + Qin (g)x, n is an even integer.
424 /cos”xdm = 2n1_1 :f:; Z) W, n is an odd integer.
425 /sinn:vd:c = 271171 :Ol Z) sin ([("(;;E)g —o) 2% (g):c

n is an even integer.
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n—1

o 1 2 (n sin([(n—Qk)(%—w)D ] ,
426, /sm rdr = on=T kz_o <k> 2k —n) , mnis an odd integer.

5.4.17 FORMS INVOLVING INVERSE TRIGONOMETRIC

FUNCTIONS
_ . 1—a222
427 | sin ' axdr = zsin 1cww+$.
a
B B 1 — a222
428 [ cos™taxrdr = xcos™ ax — ar
a
1

tan” " axdr = rtan” " ax — — log (1 4+ a’z?).

IS
N
©

2a

-1

N
w
o
o
o)
el

— 1 0
axdr = xcot™ " ax + 2—10g(1+a2x2).
a
— _ 1
Yarde = xsec” ax — = log (a$+\/a2w2—1).
a
_ — 1 ‘
csc 'axdr = zese ' ax + = log (aw+\/a2m2—1>.
a

N
w
I_\
02}
o)
)

N
O8]
N

433/<sin_1 2) dwzxsin_lg—l— a?—1x?, a>0.
434./(COS_1£) dr =zcos ' = —v/a2—22, a>0
a
435/(tan_1§) dr = x tan 1——%log(aZ—l—xQ)
436/(00’5_12) dwzxcot_1—+%log(a +x°)
_ 1 : . .
.| xsin” (az)dr = — ((2a"z" — 1)sin” " (az) + axv/1 —a?x?).
437 in~" (az)dz = — ((2a°2° -1 ' V1 —a2z?
a
xcos (ax)dr = — a’z” —1)cos™ ' (ax) — ax —a’x?).
438 ~ (aw)d 412 202 — 1 ' V1-— a2z’
a
n+1 n—+1
n . —1 _z -1 . a T .
439./117 sin (am)dw-n+1sm (ax) n+1/mdx, n # —1.
n+1 n+1
44 " cos ! S -1 @ L —1.
O/x cos” " axdr 1 o (ax)+n+1 mdm, n #
1 2 2
441 /xtan_l (ax)dx = %tan_l (ax) — %.
n+1 n+1
442 [ 2" tan™" (az)de = =— tan™" —“/‘” dz.
/:v an” (ax)dz L tan (ax) T1 ) T ™
1 2.2
443 /CECOtl (ax)dx = %Cofl (azx) + %.
n+1 n+1
n -1 X 1 a X
444./;1: cot (aw)dw=n+1cot (a$)+n+1/1+a2x2 dzx.
445/sin_1 (a )clxzalog (1—\/1—a2x2) _ sin™! (ax)
x? x x '
! 1 1++1—a%z?
446/%ﬁx)dac:—gcos_l(am)+alog( + — e )
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—1 2,2
447 / tan (@) g L (az) — @ log (M)
xr

x? x 2 2
cot 7 '(ax) , 1 4 a z?
448 / — = dr = . cot”  (ax) 5 log TTa? )

J1 — a2p2
449 /(sin_1 (ax))’ dz = z(sin™" (az))® — 2z + 21% sin”! (ax).

24/1 — a2x2

450 /(cos_1 (ax))? de = z(cos™" (ax))® — 2z — -

cos™ ' (ax).

451 /(sin_1 (ax))" dx =
( L1 nv1 — a?x?
a

z(sin~ " (ax))" +
OI'

(sin™" (az))”" " —n(n—1) / (sin”™" (az))"* dx,

-1 n—2r T n' V 1-— CLZQS'Q - —1 n—2r—1
Z (n—zf]‘)‘ Sln a.’l?) + Z (—1) m(Sln CLIL’) .

\ r=0

452 /(cos_l (az))" dx =

( _ V1—a222, _ _ _ _
z(cos™ (az))” — %(COS Y(az))" ™t = n(n — 1)/(cos L(az))" 2 de,
or
] Lzl 252
- (=1)"n! z(cos 1a$)n 27 22: (—1)" nlv1 — a?x? (Cos—lax)n—Qr—l
(n —2r)! (n—2r—1)la '
.\ =0 r=0
-1
453 sin”_ aw (sin a$)2
1— asz a
—1 n—1 n

N / " 2cos tax
na? V1 —a’z?

tan~! ax 1
457 / 1T o222 dx 9 (tan cw)
cot™!ax
458 / 1+ a2a? ~5, (cot aa:)
2
1
459 /xsec ardr = —sec tar — —+/a2x2 — 1
2a?
n+1 n
n 1 T -1 xr
460/x sec a$da:—n+1 n+1/\/a2$27_1dx
461 / sec_: ax do — _sec_1 ar n a’x? —1
z x x
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2
1 T -1 5 -
rese ardr = —csc T ar+ —+/a%x? — 1.

/ oot g
/

462

dzx.

463 [ 2" csc lardr =

1 "
| ”n+1/m

-1 -1 272

csc™ T ax csc” T ax a’xr? —1

464 — dex = — — .
T T T

5.4.18 LOGARITHMIC FORMS
465 /loga:dm =zxlogz — x.

2 2
466 /xlogmdmz L logz—Z.

) 4
3 3
467./51:210gxdx=$—10g$—m—.
3 9
xn—l—l xn—l—l
468 [ z"logrdr = = —logz — ————.
/x B = 1 B T 12

469 /(log z)>dz = z(logz)” — 2z log = + 2.

z(logx)™ — n/ (logz)" 'dz, n# -1,

470, / (logz)" dx = or
— n%Z —log:v , n # —1.
(log z)" nt1
471 7dm: +l(logm) , n# —1
dx (logz)?  (logz)®
472 = log (1 1
/ og (logx) + log x + 5 ol 3.3
dx
473 =log(l .
/wlogx og (log )
dx 1
474 = 1.
/J;(Iogaf:)" A= noga) 1 "7
™ dx ™t m+1 ™ dx
475 = 1.
/(logm‘)” (- n)(oga) " ' n—1 /(logw)”‘l’ "t
™ (log z)™ n 1
_ m 1 n
m+ 1 m+1/$ (log )™ d,
476 /xm(log z)"dx = or
n! (—logx)"
-1 n m+1 ]
( )m+1 Zr'm—i—ln’“
P
477. /xp cos (blogx) dx = P Y] [bsin (blogz) + (p + 1) cos (blog )] .
LPH
478 /xp sin (blog x) dx = TESVEESE [(p+1)sin (blogx) — bcos (blog )].
ar +b
479 [ log (ax +b)dx = log (ax +b) — x.
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480/Mdm‘: gloggz:— am+blog(ax+b).
x? b bz

1 b\ "t
481 [ z™1 = —|2™T - (= 1
8 /x og (azx + b) dx o (a) ]og(ax—i—b)
L (D) Ly
m—+1 a —r b
m—1
482/10g(aa:+b)d$:_ 1 log(ax+b)+ 1 (_g) 1 ar +b
xm m—1 xm~! m—1 x

T+ a

483/logx_adwz(:c+a)log(:1:+a)—($—a)log(x—a).

m+1 _ ¢ _ym+1

484 mlog :_1 log (x — a)
m

| 2]
2am—|—1 2 1 T\ m—2r+2
CarT X momrale)
m+1 — m—2r+2 \a

1 T+a 1 T—a 1 T —a
4 —1 =21 — =1 .
85/$2 ng—adx wog:c-l-a aog 2

For the following two integrals, X = a + bx + cx>.
486. /log Xdx =

dac — b? 1 2
($+£)logx_2x+_mtan L L N
2¢ c Vdac — b2
or
b b2 — 4dac 1 2cx+b 9
r+ —)lo X—2$+7 nh™' ———  b% —4ac>0.
( 20) & Vb% — 4ac

n+1

log X

n _z b
487./x longx—n n+1 X dx — n+1/ e dr, n# —1.

488/10g(x2+a2)dw=x10g(x +a )—2J;+2atan_1§.

489./10g(w2—a )dz = xlog (z° —a)—2x+alog —|—a.
—a
490 /mlog (> +a*)dx = % (562 +a2) log (w2 +a2) — %x2.
491/10g(a¢+ a:Q:I:az)dm::vlog(a:+ :1:2:|:a2)—\/:1:2:|:a2.
z? | a? vV x? + a?
2 1,2 — (L% 24 q2) —
492/x10g(.7:+ xia)dm—(2i4>log(a:+ :Ej:a) 1 .
wm—l—l
m 2 2 — 2 2
493/:1; log(a:—i— x :I:a)d$—m 110g(1:+ x :I:a)
1 / x
— dx
m+1) z?2+a?
494 /log (z + V22 + a?) p log (z 4+ V22 +a?) 1 10ga+\/x2 + a2
L r=— - - _—
x? x a x
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log (z + V2% — a?) dw__log (z + V22 — a?) 1 =
a

x? x lal

1 .
496 /xn log (z° — a®) dz = —— 2" log (2% —a®) —a" ' log (x — a)
n

|-1J r, n—2r
—(—a)" ' log (x + a) _Qiﬂ
n—2r+1

5.4.19 EXPONENTIAL FORMS

497 /em dr = e”.

498/6 = —e °.
499 /e Tdr = —
a

/ e®

500 [ ze“dx = e (a:z'—l).
xz"e” o @ wm—leam dZL',
a a
SOl/xme = or
ar N~y miz
e (-1) (m — r)lar 1
r=0
2 2 3,3
a’x a’r
502 =logx + 1'+2 2!-|-3 3!—1-..
503 [ & c 4+ 2 /e de, m#1.
:L\m m x™m— 1 m—1 xmfl

504/6%10g$d$_ﬂ_1/6 dx.

a a 4

dx e”
=x—1 1 =1 .
+€$ =x —log (1+¢") ogl_i_ng

:———log(cH—be “).

_ 1 —1 mx a
aemf+be — —mmtan (e \/;), a>0,b>0.
! log(u>, a>0,bb>0,

/
08 | oo
/
/ _ 2mv/ab Vaem +/b
G
[
| wrar

or

_]- -1 ( a mm)
tanh —e , a>0,b>0.
myvab

xX —x
m a’ +a

b
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ze~ 56_36
e*® [asin (bx) — beos (bx)]
a? + b2 '
e [(b—c)sin(b—c)x + acos (b — ¢)x]
2[a%+ (b—c)?]
e [(b+c)sin (b + )z +acos (b+ c)z]
2[a? + (b+ ¢)?] '
e*®[asin (b —c)x — (b — c¢) cos (b — c)x]
2a? + (b— o)
N e’ [asin (b4 c¢)x — (b+ ¢) cos (b + ¢)x] ‘
2[a? + (b+¢)?]

513 [ e sin (bx) da:—

514 [ " sin (bx)sin (cz)dx =

515 [ e**sin (bx) cos (cx) dx =

e’ cosc  e" [acos2br + ¢+ 2bsin 2bx + c]
516 [ e sin (bx)sin (bx + ¢) dz = 5 2la® + 407
e’sinc € [asin 2bx + ¢ — 2bcos 2bx + ¢
17. = _ .
5 e sin (bx) cos (bx + ¢) dx 5, T 3 Ta? + 467]

axr

e cos (bx)dx = 26+ E [a cos (bx) + bsin (bx)].

e*®[(b—c¢)sin(b—c)x +acos(b— c)x]
2[a%+ (b—c)?]
e [(b+¢)sin (b+ ¢)x + acos (b + c)x] .

+ . .
2[a?+ (b+¢)?]
520 [ ¢ cos (bz) cos (br + ¢) da = ;aosc 4 ¢ lacos %2"” [: C;;if]sm 2bz + ],
521 [ €"* cos (bx)sin (bx + ¢) dx = c 22111 ‘ losin ng[: C+—4ig]COS Sihs C]

522 asin (bz) — nbcos (bz))e™” sin" ' (bx)

1
2 + n2b2 [(

e sin" (bx)dr =

+n(n —1)b* /e” sin” "2 (bx) dz| .

1 : ax n—1
e®® cos™ (bx) dx = pra—TT [(acos (bx) + nbsin (bx))e”” cos™ ™ (bx)

523

+n(n — 1)b° /e‘mj cos" % (bx) dx| .

m _x 1 m m—1 _x .
z"e smxdm—§x e’(sinz —cosxz) — — [ 2" "e“sinzdx

2
—I—% /mmlew coszdz.

524

m az @ sin (bz) — bcos (bx)

12 [ v
J
J
Je
Je
Je
J
519 / e cos (br) cos (cx) dz =
J
f
It
J
/
/
/
/

525 [ z"e*" sinbxdxr = x W2
m m—1 _ax :
—mfw e*”(asin (bx) — bcos (bx)) dx.
m _r 1 . m m—1 x -
526 [ z"e cos:z:d:z:—§x e (smx+cosx)—?/x e’ sinx dx
—% ™ e cos x da.
527 | 2™ cosbr dz = o™ e L5 (bx) + bsin (bx)
a? + b
_a2mﬁ ™ e (acos (bx) + bsin (bx)) d.
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528 / e“®cos™ zsin"” zdx =

(e (cos™ ! x)(sin™ z) [a cos x + (m + n) sin z]
(m+mn)? + a?
na ax m— son—
e e (cos™ " &) (sin” ' ) dx
m—1)(m+n aw m— . n
((m+ T)ng +a2) /e (cos™? ) (sin” ) de,
or
e®*(cos™ x)(sin" "' z) [asinz — (m + n) cos ]
(m+n)? + a?
ma azx m— s n—
+m e (cos™ ' x)(sin ! x) da
n—1)(m+n ar m s n—:
((m n 3"5)2 n a2) e (cos™ z)(sin" % z) dz,
) or
e (cos™ " z)(sin” "' z) [asinz cos z + msin® z — ncos” z]
(m+n)?+a?
m<m — ]-) az m—2 n
minyia e”"(cos z)(sin” x) dz
n(n —1 azx m s M
m /e (cos™ x)(sin™ " * z) dx,
or
e**(cos™ ' z)(sin" ' z) [asinz cosz + msin® x — ncos® z]
(m+mn)?+a?
mim — ]. ar m — oo n—
m /e (cos” ? z)(sin" " z) dx
\ + (n (_mm—i)-(:)j—lr-na; D) e** (cos™ ) (sin" " z) d.
529 /me‘” sin (bx) dr = C;QW [a sin (bx) — b cos (bx)]
_(azi——b?)Q [(a® — b?) sinbx — 2ab cos (bx)] .
530 /mea’: cos (bx) dr = afeﬁ [a cos (bx) + bsin (bx)]
e’ .
Ty [(a® — b?) cosbx + 2absin (bx)] .
531/ e” d$:_e“$ [asinz + (n — 2) cos z] n a’+ (n—2)? / e*” i
sin” (n—1)(n—2)sin" 'z (n—1)(n—-2)/) sin" 2z
er® e lacosx — (n—2)sinz] a4+ (n—2)? / e*”
532 =— .
/ cos™ x de (n—1)(n—2)cos" 1z + (n—1)(n—-2) ) cos" 2z de
n—1
533 /e‘w tan” x dx = e” tan T r__a 7 /e” tan" "z dx — / e tan""? & dx.
n— n—

5.4.20 HYPERBOLIC FORMS

534 /sinhx dx = cosh z.

535 /coshwdw = sinh z.
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536 /tanhx dx = logcosh x.
537. /cothm dx = logsinh x.
538 /secha: dx = tan~' (sinhz).

539 /cscha; dz = log tanh (%)

540 /xsinhxda: = gy coshx — sinh z.
541 /J:” sinhx dzx = 2" coshz — n/x"_l(cosh z)dz.
542 /xcoshxda: = g sinh x — cosh x.
543 /mn coshz dr = z" sinhx — n/m"_l(sinh z)dx.
544 /sechx tanh x de = —sech z.
545 /cschx cothzdx = —csch x.
546 /sinh2 rdr = sinh 2o — f.
4 2
547 / sinh™ z cosh™ z dzx =
sinh™*! z cosh™ ™! & + — ! /sinhm zcosh" ?zde, m+n#0,
m-—+n m—+n
or
. 1m—1 n+1 m—1 < 1m—2 n
sinh xcosh” x — —— [ sinh xcosh” zdx, m+n#0.
m-—+n m—+mn
dx
548 =
/ (sinh™ z)(cosh™ x)
1 m-—+n— 2 / dzx
_ — dx, 1,
{ (m — 1)(sinh™ ! z)(cosh™ ' z) m—1 (sinh™~ 2 )(cosh™ x) v m#
or
1 m+n—2 dx
+ dz, 1.
(n — 1)(sinh™ ! z)(cosh™ ' z) n—1 / (sinh™ z)(cosh™ 2 x) v n#
549 /tamh2 rdr = x — tanh .
hn—l
550 /tanh” rdr = —% + / (tanh™? z) dw, n # 1.
551 /sech2 rdr = tanh z.
552 / cosh® z dp = S22 T
4 2
553 /coth2 rdr = x — cothzx.
n—1
554 /coth” ¢de = —COth—lw + /coth"_2 wdr, n#l.
n —

© 2003 by CRC Press LLC



555 /csch2 zdr = — cothz.

sinh (m +n)x  sinh (m —n)z

556 inh inh = — 2 2,
/(sm mz)(sinh nx) de 2(m + ) 2m—n) m° #mn

557. / (cosh mx)(cosh nz) dx = sth(?(nm+—|—nr)L)1: szh(;m__n?)m, m? # n’.
558 / (sinh mzx)(cosh nz) dex = COS;ET(nm_'__'_n?;)x Cosélzr(nm_—n?)x’ m? # n’.

559 / (sinh—1 g) de = zsinh ™! g — Va2 +a?, a>0.
2 2
560 /m (sinh*1 f) der = (m— + a—) sinh * % — f\/:cz +a?, a>0.
a a

2 4 4

n+1 1
n . 1 —1 _x -1 € _
561/:1; sinh xda:—n+151nh x n+1/mda:, n % —1.
zcosh™! 2 — /22 —a?, cosh! >0,
562/ cosh ™ = or
zcosh_1§+ 22 —a?, cosh_1§ <0, a>0.
1z IL'2 (12 1 T
563 h™ =(—=-— h™ = — =+v/x2 —a?
/x cos d (2 1 ) cos 1 2 —a
’I’L+1 1 mn—I—l
564 /x cosh 'z dx = cosh™ 'z — de, n# —1.
+1 n+1 z2—1
565 / (tanh™* 2) do = wtanh™  + Zlog (a = 2?), |2] <1,
a a 2
566 / (coth_1 2) de = x coth™" g + % log (z° — a®), ‘§| > 1.

2

2
567./:p(tanh_1 D) do =T tann ™ 2+ 50, |2 < 1.

568/$ntanh_lxdx: ="t tanh™' 2 — : / o dr, n# —1.
n+1 n+1) 1—2x2

569 /a; (coth_l g) do= % 0

" eoth~) zde = L coth™! 1 A £ -1
T Cco xa:—n+1co x+n+1 1 r, nF —1

2
coth™! —+— |—|>1

570

571 [ sech 'z dr = zsech ™' 2 +sin" ! z.

2

_ _ 1
rsech ™ zdx = %sech Ly — 5\/1 — 2.

n+1 1 n
z"sech™ ' xdr = = sech™ = + / L de, n# —1.

572

573

\\\\\\

n+1 n+1) /1—=z2
574 [ csch 'z dr = xesch™ z + ‘m—’sinh_1$
x
2
_ 1 x -
575 xcschlxd:z::%csch x+§ﬂ\/1+a:2.
T
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n+1

576 /xn csch ede = 2 csch™ 'z +
n—+1

1 =z z"
——— | —dx, n#—1.
”4‘1|917|/\/1+:132 #

5.4.21 BESSEL FUNCTIONS
Z,(x) represents any of the Bessel functions {.J,(z), Y, (z), K,(x), I,(x)}.

577 [ "' Z, () dz = " Zppi (2).
e P Z(2) de = -7 P Z, 0 ().

/
/
579 [ 212, @) de = 5 [IZ(@@)] ~ Zy-s(a2) Zpran)].
/
/

5.5 TABLE OF DEFINITE INTEGRALS

582/ " e ¥ dr =T(n), Ren>0.
0

o0 !
583/ "p Cdr = (lognﬁ’ p > 0, m is a non-negative integer.
0
584/ z" ! _(QH)wd:p:%, n>0,a>-—1.
0
I'n+1
585/0 ™ <log > dmzﬁ, m>—-1, n>-—1.
1 o) m—1 F(m)F(n)
586 (1-2)"!de = ad = 0, 0.
/Oa: x) r = /0 A+ F(m+n)’ n > m >
7/bx—a (b—2z)"dx = (b— )m+n+1f(m—|—1)f’(n+1)
Fm+n+2) ~’
m>-—1, n>—-1, b > a.
588/ d—xz . m > 1.
1 -1

589/0 1—|—:c):fcp =mcscpm, 0<p<1.
590/(; 1—91;)3;1” —mwcotpm, 0 <p<1.
1
l/ dx = prescpm, |p| < 1.
0 (1—x

592 dx = 1Mdat-—wcosecw —-1<p<0
. (1_x Yo+t . aptl - b, p=7u

pl
593/ ad =—"  0<p<l
0 smp
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[e’s) m—1
594./ Y dr=—"__ 0<m<n
0

1+ xn nsin%
oo a (a+1=be)/b (et} (o — atl
595/ x - da::m (b) (C b)7
o (m+4zb)e b T'(c)

a>-1,b>0 m>0, ¢c> %

( g, a >0,
oo or
597./0 pEa 2d:13—< O(,Dr a =0,
\ g, a <0
598 Oa (az — xz>n/2 dr = /_aa % (a2 — xZ)n/Q dr = o :1,—!!1)” 72r n+1;

a > 0, n is an odd integer.

a n (i) ( ntk2
599./ mm(aQ—mQ) mdmz%a”“’”+1 ( 2 ) 5_2) a>0 m>-—1,n>-2.
0

T m—l—; 3) ’
( T(rtl
o nQZ)y n> -1,
r'(232)
/2 w/2 or
600/ sin a:dx—/ cos"zdr =4 (n-Dir 0 0. mis an even integer
° 0 a2 : ger,
or
(n—1)! _ .
; TR n # 1, nis an odd integer.
' g; (I,>O’
> sin ax or
601/ da‘;:< O7 GZO,
0 v or
| —g, a<0
602/ cosx .
603/ tanz , _
0
604/ tanaa: E, 00,
0 2

605/ sin (nz) sin mx)dw—/ cos (nx) cos (mx) dz = 0,
0 0

n # m, nis an integer, m is an integer.

606/ sin (nz) cos (nx) dz —/ sin (nx) cos (nx) dx = 0, n is an integer.
0

o

2a

a2 — b2’
or

0, a — b is an even integer.

a — b is an odd integer.
607. / sin az cos bx dor =

o
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(0, la| > 1,
or
°° gin x cos ax T -1
608/ = dr =S la] =1,
0 v or
0
L 57 |CL|<]..
%, 0<a<hb,
609 [~ TRAULTM gy 3 or
x
0 %b, 0<b<a.

™ ™
.2 2 0 . .
610 / sin” mx dx = / cos” mrdr = 50 misan integer.
0 0

oo 2
611 / sin"pz ;- _ 7lpl.
0

x2 2
* sinz T
612 dr = 0 1.
/0 w T s/ P
* cosx T
613 dr = 0 1.
/o w T Wpyeos(pr/2) - P
614./ 1—c;)sp:1:dx:7r|p|.
0 T 2
( 07 q > p > 0’
or
615/""%@: > p>q>0
0 v or
T
o p=4gq>0.
> cosmx _
616 = Imal
/0 r? +a? 2 |al
617/ cos x> dx :/ sin 2 d:c:1 T
0 0 2 2
%0 . 1 1
618 / sin (az”) dr = — F(—) sin —, n>1
0 nat/m n n

&.
=
w
8
[

621 —do = 7.
% gin® x 3
622 2 der = Zlog 3.
0
oo .3
623 / e 3%
0 aj
oo .4
624 / = =1
0 x 3

/2 dx cos 'a
625 —dr = —= 1.
/0 T+acosz © V1—aZ’ lal <
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626/ _ 4 =T asb>o.
o a-+bcoszx a2 — b2

27
dx o
627. = L
/o l4+acosx v Vi—a?’ la] <
628 / cosax — cos bx dx = log _“
0 x a
/2 de -
629 do — _
/o a?sinxz 4 b2costa 2 |ab
w/2 dz 71'(&2 +b2)
630 _ ; |
/(; (a/2 Sin2 T + b2 cos? ZL‘)2 z 4a3b3 , a > 0, >0

/2 1 _/n\ym

631 / sin" 'z cos™ Lz de = —B(—) m
0 2 2/ 2

m is a positive integer, n is a positive integer.

/2 2!
632 / sin?2" ! pde = (2(#_'_)'1')”7 7 1S a positive integer.
0 n !

T2 g 1 1 1 1
634 dr =2 - —+ - — — 1+ .. ).
/0 sing (12 TR T )

/2 d
635 / — Y de= %, m is a non-negative integer.
0

1+ tan™ x
/2 (27_[_)3/2
636 / Vveosrder = ———.
0 (T(1/4))*
/2 h T
637./ tan" xdr = ———~, 0<h <1
0 2 cos (7”)
/2 -1 _ -1
638/ tan’ aw —tan bz 4 Tyl 050, b 0.
0 x 2 b
o —axr 1
639 / e de=—, a>0.
0 a/

oo ,—axr __ ,—bx
640/ e e gr=logl a>0 b>0.
0 x a

I'(n+1
% (aTl) a>0n>-1,
641 / e “dr = or
0 n! . o
prasy a > 0, n is a positive integer.
o0
642. / mneiawp dm f— M’ a > O, P > 0, n> _1
0 pa(n+1)/p

643 / e dp = L /5 a0
0 2a
b

644./ e_‘”Cde:EHIerf(b\/c_z), a > 0.

0 2V a

645/ e_aa“jda::%’/gerfc (bv/a), a>0.
b
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8

(o))
&
o

(o)}
.;;
(o0}
8
s
|
Q
8
o8

o
N
~

8
@
&
8
I

3
[\
|
8
M)
N | —
“I5

2 2n -1 /=«
=4/ 0, 0.
x 2(2a)" P a>0,n>

!

8

649. $2TL+1 —ax2 d$: 20:'}1—‘_’_1, a>0, n>_1
1 1 m r
m_—az . m —a a
650 x'e dr = e !1—6 Zﬁ]
r=0
651 ooe(_m2_a2/m2) de — e_Q\CLl\/E
2
e 1
652 [ e(—a?=b/e) gy — 5,/%52@, a>0, b>0.
653 | o dr=-1,/T a0
2a \ a
o0 e—a:c T
654 de = 4/—, a>0.
N3 Va’
655 | e Fcosmrdr=—2 a>0.
a? +m?

/
/
/
],
/
656 /0 e “"cos (bx +¢)dr = acozslzzslnc, a > 0.
657. / e ““sinmzdr = %, a > 0.
0 a*+m
658 /0 e ““sin (bx + ¢)dr = bcozg i Z;mc, a>0.
. 2ab
659./0 ze smlmdxzm, a>0.
o] (1,2 . bZ
660/0 ze T cosbrdr = (a2 F 077" a>0
* n—az n! [(a +ib)" ' — (a —ib)" ]
661 /0 T'e sinbx dr = 2ila 7 D)t , a>0.
o n! [(a —ib)" " + (a +ib)" ']
662/0 z'e cosbrdr = 2(a® + b)n , a>0, n>-—1.
663 / € ST gr — cot™! a, a>0.
0 m
664 / e~ cos bz de = el eXp_b2/(4a2), ab > 0.
0 2 al
665 / e 5?4 gin (#sin ¢) de = I'(b) sin (bg), b > 0, -5 <¢< 3.
0
666 / e %" cos (zsin @) dx = T'(b) cos (bp), b>0, —Z < ¢ < Z.
0
* o1 br
667. x’~ cosxdr =T'(b)cos > ) 0<b< 1.
0
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668 / 2" !sinz dz = T'(b) sin (%”) 0<b<1.
0

1
669 / (logx)"dx = (—-1)"n!, n>—1.
0
1

x
1 1 n
671/ (log —) dx = n!
0 w
' 3
672/ zlog (1 —x)dx = —-.
0 4
! 1
673/ zlog (1 +x)dex = ~.
0 4
1 _1\n
674./0 2" (logz)" dax = ((;)_FFl()nm—:ll)’ m > —1, nis a non-negative integer.
1 2
675/ 08T o= T
o 1+x 12
1 2
676 [ 8L g, T
1 2
677/ 10g(1+:1:)d _ T
0 x 12
1 _ 2
678/ log(1 =) yp o T
0 T 6
1 2
679./ (logzc)log(l—l—x)d;c:2—210g2—E.
0
1 2
680/ (logm)log(1—$)dx:2—z.
0
' logx 7’
681 =——.
/0 1— 22 de 8
1 2
l1+x\de =
1 @ _T
682/0 0g(1_$) = 1
683 | B gy — _Tloga
0 \/1—$2 2 &
- 1\1" L(n+1)
684/0 T [log (E)] d (m 4 1)t m>—1, n>—1.
1,..p q
¥ — p+1
685 d 1 — -1 -1

1
686/ __d
o +/log (—logx)

[e%s} em_|_1 71_2
687. 1 der = —.
f s () o=

/2
688 / log sin x dx = / logcosxdx = —g log 2.
0 0

/2
/2 /2 T
689 / log sec x dx = / log cosec x dx = ) log 2.
0 0
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3

2

690/ xlogsinmdmz—%log?.
0
/2
691/ (sinz)logsinx dx = log2 — 1.
0
/2
692/ logtan x dx = 0.
0
™ 2 _ K2
693/ log (a + beos ) dz = 7 log (“— V;‘b) a>b.
0
p 2rloga, a>b>0,
694./ log (a®> — 2abcosz + b*) dx = or
0 2wlogh, b>a>0.
* sinaw T am
695 = — tanh —.
/0 sinh bz 2 " 29|
> cosax aw
696 ——— dx = —sech —.
/0 coshbz 0 2b 0" 2b
697./ do _ _ 7
o coshazr  2|a
e} T 7_[_2
= — > 0.
698/0 sinhaz ©  4a?’ @20
699./ e_axcosh(bm)dwzcﬁaj, 6| < a.
0
700/0 efaxsinh(bx)d:p:ﬁ, b < a.
* sinh ax ™ ar 1
P e = Dese D~ — b >0.
701/0 o 11 x 2bCSC b 5q’ b>0
*° sinh ax 1 s am
= — — Zcot== p>0.
702/0 ebm_ldm oy 2bcotb, b>0
/2 dx ™ 1\’ 1-3)’ 1-3-5)7
7 G 1 2 1.5 4 6
03/0 V1—k2sin?z 2 +<2> ’ +<2-4> ’ +<2 4 6) e
k<1
/2 d ™ 1\’ 1-3)°
704 = |1+ (5) 3®+(—) 5%
/0 (1 — k2sin®x)3/2 2 +( ) +(2-4)
1-3-5\°_ & )
+(2 1 6) Tk” + ..], k" <1
w/2 2 2 44
705/ V1-—k2sin?zdr = - [1—(1> kQ—(Q> K
. ) 2 3
1-3-5\° Kk )
\2-46) 5 ] el
706/ e “logxdr = —v.
0
707./ e_$210g:z:da:=—4(7+210g2).
0
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709./ l( L —l)da::j/.
o T\l1—e® <z

5.5.1 TABLE OF SEMI-INTEGRALS

d—1/2f
f —1/2
dzx—1t/
o |0 0
o |1 Qﬁ
3) :L'_l/Q \/7_7'
452/3
) xr 3\/E
N2(4)+1/2
s |2, n=0,1,2,... %

o | 2P, p>—1

@ 1+
1
Y Vit
1
© 1+x
(10) e®
an e” erf (\/E)
a» | sin (\/5)
a3 | cos (\/E)
(14) sinh (\/E)
asy | cosh (\/E)
Sln(ﬁ)
(16) \/E
cos(ﬁ)
a7 \/5
(18) log X
19) 10%

I'(p+1) 1/2
r(§+g>$p+ /

Z (14=z) tanfl(ﬁ)
VE

2 tan”! (V)

2sinh ™! (\/E)
v r(l4z)
e” erf (/)

e’ -1

VrzJi (V)
VrrH_1 (Vz)
vzl (V)
VAEL 1 (VF)

VT Ho (V)

Vo (V)

2,/Z [log(4x) — 2]
v log (§)
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